This is basically a copy of test_issue_138, modified to use a bigger figure, and a larger border padding
size.

This test shows that the math on size and location calculations for the border and the figure within the
border are not correct.

This is the default figure class without a border (which seems right):
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This is the caption.
And this is the legend.

This is a line after the figure, just to show where things are.



This is a figure with wi t h- bor der class (which is broken at the time of this report):
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And this is the legend.

v

CLKO

DAT1 XCLKO >
[C)gz XSYNCO >
XDATO00
INTh XDATO1 >
RSTn
SAMPLE

e XCLK] ey
o XSINCL=———=F (t( other

DAT3 XDAT10

‘_
A4 Greek Gods)

1

This is the caption.
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This is a line after the figure, just to show where things are.




